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( PART : B—DESCRIPTIVE )

( Marks : 45)
The figures in the margin indicate full marks
for the questions
1. (@) Enumerate the characteristics and rules
of marriage. 3+6=9
Or

(b) What are the major problems in
marriage that the society is facing
today? Elaborate. | 9

2. (a) Explain Evelyn Duvall’s development
cycle of family. ' 9
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(2)

- Or

(b) Ilustrate the changing nature of family

from past to modern society. q

Discuss Engels and Talcott Parson__s’_
views on family. 4'2+472=9

Or

3. (@)

() Communication plays an important role
in the functioning of family. How do you
utilize symbolic interactionism as a
theoretical perspective in understanding

family? ' 9
4. (a) Elucidate the determinants of kinship 2
terminology. 9
Or
(b) Explain the meaning of genealogical ;
method with the use of diagrams and
symbols to record kin connections. 9

S. (a) Discgsrs the ‘matrilineal System of the
Khasis'and Garos of Meghalaya, 414+4%=9

“Or -

) :
(b) Write an €SSay on patrilinea] descent
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SOCIOLOGY
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( Marriage, Family and Kinship )

( PART : A—OBJECTIVE )

( Marks : 25)
The figures in the margin indicate full marks for the questions
SECTION—I
( Marks: 10)

Put a Tick (v) mark against the correct answer in the
brackets provided : ’ 1x10=10

1. Marriage is

(a) ‘an important and universal social institution of

society ( )

(b) an important basis for group
formation ( )

(c) helpful in strengthening the caste
system ( )

(d) helpful in calming down the angers of two
conflicting groups ( )
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(2)

2. Polygamy is a term covering

(a) levirate and sororate ( )
(b) endogamy and exogamy - | )
(¢) polygyny and polyandry ( )

(d) cross-cousin marriage and parallel
marriage ( )

cousin

3. The Hindu ‘Marriage Act of 1955 prescribed the

minimum age of marriage as
(a) 18 for boys and 15 for girls (
(b) 2i for boys.and 18 for girls (
(c) 25 for boys and 21 for girls

(d) 18 for boys and 16 for g»irls.

father’s sister then it is called f groom
(@) - Patriloca] (ress)

(b) Duoloca] ( )

(¢) Amitoloca] ( )

(d) Susolocal‘ . (G
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(3)

5. The nomenclature of the family functions as a

symbol of

(@) superiority of the family ()

(b) family succession ( )

(c) system of reckoning descent (i )

(d) system of keeping names of the members of the
family ( )

6. In which of the following descent patterns would all
individual inherit both a patrilineal line and a
matrilineal line of ancestors?

(@) Simple unilineal (25
(b) Bilineal ()

(c) Parallel )

(d) Ambilineal ()

7. The analogy between kinship system and language is

used by

(a) Morgan ( )

(b) Murdock e

(c) Westermarck ( )
(d) Radcliffe-Brown ( )
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(4)

tary structure of kinship is written by
n

)

8. The eleme

(@) Levi Strauss (
(b) Radcliffe-Brown
(c) Herbert Spencer ( )

(d) James Frazer ()

9. Filial relation may be represented by

(@) A-A ()

(c) A-O ( )

10. Who among the following inheritg

Khasis of Meghalaya? property among

(a) Eldest son ( )
(b) Youngest son (5
() Youngest daughter (_ )

(d) Oldest daughter
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SECTION—II
( Marks : 5)
Indicate whether the following statements are True (T) or
False (F) by putting a Tick (v) mark : 1x5=5
1.

The exchange of rings in marriage symbolizes that
the man has money.

(T / F)

2. Homogamy refers to people of different social
characteristics marrying.

(T ./ F)
3. The incest taboo serves to prevent sexual rivalry from

breaking up families.
(T / F)

4. All patrilineal societies are intensely patriarchal.

(Tl F)

5. The most complex kinship system is the Sudanese,
with a different term for every relative.

(T / F)
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(6)

ggcrion—11
( Marks : 10 )
five of the following ; 2x5=1q

Write short answers OIl any
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(7))

2. What are the types of polygyny?
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(8)

3. What is the difference between family of orientatiop,
and family of procreation?
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(9)

4. Distinguish between unilateral family and bilateral
family. '
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( 10 )

| and gotra.
5. Differentiate between clan an
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(11 )

6. Define degrees of kinship.
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( 12 )

my?
7. What is hypergamy and hypogamy

* & %
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( Honours )

Paper No. : SOC-502

( Rural Sociology ) |

Full Marks : 70
Pass Marks : 45%

Time : 3' hours

The figures in the margin indicate full marks

1. (a)

(b)

20L/ 124

for the questions

Discuss the origin and the rate of .
growth of rural sociology. 14

Or

What is Rural Sociology? Describe the
varied area of interest of rural sociology.

2+12=14

Community approach studies a village
life from both historical and

contemporary perspectives. Elaborate. 14

( Turn Over )



(2)

Or

2 e lication of regiong
Exalnme X rul'al SOCiology- State ltS

(b) aaC )
?rfeprlif: and demerits. T+7,
: features of rura]
. out the salient b
3. (@ Pogll;zzitie s in India as distinct from
co e
urban communities. 14
Or
(b) Discuss the OCCupational diversity in
rural society. 14
4. (a) Evaluate Panchayati Raj as a self-
governing institution in rural villages. 14
Or |
(b) State the emergence and working of
Village Councils in Nagaland. 14
5. (a) Explain the changing trends in the role
of women in agriculture. 14
Or
b) Di
(b) T::}:Iuss th.e‘ role of Science and
nology in enriching rural lives. 14
* k%
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SOCIOLOGY
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Paper No. : SOC-503 (OP)
( Industrial Sociology ) ;

( New. Course )

Full Marks : 70
Pass Marks : 45%

Time : 3 hours

The figures in the margin indicate full marks
| for the questions R

1. Explain the meaning of industrial sociology
and discuss its scope. ~ 5+9=14

Or .

Write an essay on the contemporary systems

theory of management. 14

2. Discuss the formal and informal structure of
industrial organization. 7+7=14
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(2)

Or
Write an essay on the production process i,
rite LGP
the industrial organization. y

What type of leadership are found in an

industrial setup? Explain with example. 14
Or

What are the conditions fpr effective

leadership? Explain. Y 14

What do you ﬁ_nderstand by authority

relations in industry? Elaborate. 14 _
Or

Discuss the types of trade unions. What are

the functions of trade unions? 7+7=14

Describe. in detail the Ccauses and the types of

industrial conflict. | 7+7=14
Or
What are the areas of focus of the New
Industrial Policy of India? Explain. L
* d K
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